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1.  ABC Corporation’s average monthly expenses for petty cash were $88.  The first four months averaged were $78, $86, $96 and $94.  What was the fifth month’s expense?  

a. $82

b. $84

c. $86

d. $88

2.  A picture three feet wide is hung in the center of a wall that is 19 feet across.  How many feet from each end of the wall is the edge of the picture?  


a. 1 ½ feet


b. 3 ½ feet


c. 8 feet


d. 11 ½ feet

3. Two new cars (A and B) have the same list price of $21,000.  Car A is available with an 8% discount and $900 rebate.  Car B is advertised for 15% off.  Which car is the better buy and by how much?  


a. Car A: $470


b. Car B: $570


c. Car A: $2470


d. Car B: $2470

4. What number belongs next in this series:  7,9,15, 17, 23, __?  


a. 25


b. 27


c. 29


d. 31  

5. A new PC can be purchased for $800 cash or 25% down with 12 monthly payments of $55 each.  How much money is saved by paying cash? 


a. $30


b. $40


c. 60 


d. 75

6.  If stock sells for $33 ½, what is the cost for 50 shares?  


a. $1575


b. $1628


c. $1675


d. $1700

7. Add the following: .327 + .74 +. 2069 + 8.4268 =

    a. 9.7217

    b. 7.9009

    c. 8.7009

    d. 9.7007

8.  Patio blocks are 6” x 12”.  How many blocks will be needed to cover a patio that measures 9’ x 12’?


a. 51


b. 74


c. 162


d. 216

9.  As a sales representative for a major company, you receive $.34 per mile travel expense.  You traveled 300 miles on 3/20, 250 miles on 3/21, 175 miles on 3/22, and 400 miles on 3/23.  How much will you receive as reimbursement?

a. $190.25

b. $245.38

c. $382.50

d. $201.48

10.  Your office will purchased six boxes of name badges for an upcoming conference.  Each box contains one gross of the badges.  From the six boxes, you expect to have 75 extra, unused badges.  Approximately how many attendees are expected at the conference?  


a. 500


b. 650


c. 700


d. 800

11.  Mike worked on a project from 10:50am until 11:26 am.  What fraction of the hour did he spend on the project?  


a. 1/36


b. 3/5


c. 5/8


d. 2/3

12.  Marcus had $827.79 in his checking account.   He deposited $2350.04 and then wrote checks for $535.00, $27.31 and $38.13.  He also withdrew $460.00.  How much is left in his account?  


a. $2117.39


b. $2279.26


c. $2577.39


d. $2731.98

13.  Mr. Smith can process 300 orders in a single 8-hour shift.  Which expression shows how many shifts will be needed to process 1600 orders?  

 
a. 300+1600


b. 1600- 300


c. 300 x 1200


d. 1600  


      300

14.  A stack of books is 24 inches high.  Each book is ¾ inch thick.  How many books are in the stack?  


a. 16


b. 20


c. 28


d. 32

15. Arnett Hardware sells two brands of masking tape.  Brand 1 is sold in 50-yard rolls costing $2.70 each.  Brand 2 is sold in 60-yard rolls costing $3.18 each.  Which brand has the better price per yard?  


a.  Brand  1


b.  Brand 2

16.  John receives a wage of $9.50 per hour for the first 40 hours worked in a week, and 1 ½ times that rate for all hours over 40.  How much does he make if he works 52 ¼ hours this week?  


a. $475.00


b. $496.38


c. $554.56


d. $612.65

17. An insurance policy costs $6.87 for every $1000 of insurance.  At this rate, what would $25,000 insurance policy cost, rounded to the nearest dollar?  


a. $17


b. $172

c. $218


d. $1145

18.  The doors to ABC Corporation are 2.25 meter in height and 1 meter in width.  Weather stripping is needed for the tops and sides of two doors.  If the weather stripping is available in packages of 15.50 meters, approximately how much stripping will be left after it is installed on both doors?  


a. 1 meter


b. 3 meters


c. 4 ½ meters


d. 6 ½ meters

19.  Joe earns $1344 per month.  If 2.5% of his income is deducted for state income tax, how much does he pay in income tax per month?  


a. $20.26


b. $26.88


c. $29.00


d. $33.60

20.  A loan is issued for $4500 at 7.5% interest for three years.  What will the payments total? 


a. $337.50


b. $1012.50


c. $4837.50


d. $5512.50

21.  A gallon of paint costs $19.00.  Mark painted three rooms with the same kind of paint.  The three rooms each took the following amounts of paint:  4 ½ gallons, 3 gallons and 3 ¼ gallons.   How much  did Mark spend for paint?  


a. $107.50


b. $204.25


c. $254.25


d. $304.50

22.  ABC Corporation uses plastic tubing in the manufacturing of one of their products.  The tubing is available in 100 foot lengths.  How many pieces measuring 1’ 9” can be cut from a 100 foot length?  


a. 57


b. 58


c. 60


d. 62 

23.  Mary is canning raspberry jam.  If she makes two gallons of jam and plans to keep six pints for herself, how many pints will she give away?  


a.  8


b. 10


c. 12


d. none of the above

24.  The advertisement for an administrative assistant requires a typing speed of 55 wpm (words per minute).    At this rate, how many words would the typist complete in seven hours?  


a. 21,300


b. 22,500


c. 23,100


d. 40,000

25.  Each edge of a 5” cube is increased by 20%.  What is the volume of the new cube?  


a. 96 cubic inches


b. 150 cubic inches


c. 176 cubic inches


d. 216 cubic inches
 

26.  You have a credit card balance of $1,300.  Payments made to the company are applied to interest first and then to balance.  The interest is calculated on the balance you owe.  Your credit card carries an annual rate of 22.5%.  If you make one monthly $25 payment, how much will go toward the balance owed after the interest is deducted from the payment?

a. $0.62

b. $0.56

c. $0.48

d. None of the above

27.  As a baker at Chip’s Bakery, you find that there are 10 cups of sugar remaining.  A recipe for one batch of cookies calls for 1 ¾ cups sugar.  What is the greatest number of batches that you can bake with the sugar available?   


a. 4


b. 5


c. 6


d. 8 

28.  Sandra can drive for 32 miles on two gallons of gasoline.  How far can she drive with a full tank of 14 gallons?  


a. 187


b. 193


c. 204


d. 224 

29.  Robert’s Café purchases breakfast rolls at $4.22 for 18.  If they sell the rolls for $1.25 each, what is their approximate profit per roll?   


a. $.50 


b. $1.00


c. $1.10


d. none of the above

30.  Last year, Francine spent 15% of her annual departmental budget on refreshments.  If the cost for refreshments was $3555, what was her annual budget?   


a. $23,700


b. $25,393


c. $29,625


d. $35,550

31.  James bought a car for $20,000 at 8 ¼% interest for four years.  How much will he pay in interest on the loan?  


a. $1650


b. $2165


c. $6600


d. none of the above

32.  The local newspaper costs $.50 per day for each edition Monday-Saturday.  The Sunday edition is $1.75.   How much would it cost to buy the paper daily for 15 weeks?  


a.  $48.75


b.  $63.75


c.  $71.25


d. 83.75 

33.  75% of the employees at ABC Corporation answered an internal survey.  If there were 120 responses, how many total employees are there?    


a. 160


b. 180


c. 200


d. 220

34.  For the last five days, temperatures were as follows:  78, 82, 84, 86, 85 


What is the average temperature for these days?  


a. 81


b. 82


c. 83


d. 84

35.  Angela earns $2080 per month.  If her net pay is 78% of that amount, what is deducted from her paycheck?  


a. $416.50


b. $457.60


c. $1622.40
 


d. $1664.32

36. The 48 employees of XYZ Corporation were given a choice of two different retirement plans.  If all employees selected one of the options and twice as many employees chose Plan B as chose Plan A, how many employees chose Plan A? 


a. 13


b. 14


c. 15


d. 16   

37. The sum of three consecutive odd numbers is 75.  What is the largest of the numbers?  


a. 21


b. 25


c. 27


d. 29

38.  Twice a month, $75.50 is deducted from Marvin’s paycheck for health insurance.  About how much does she pay per year?  


a. $906.00


b. $1510.00


c. $1812.00


d. $3624.00 

39. Myra earns $2383.20 per month.  If her monthly mortgage is approximately 2/5 of this amount, about how much does Myra pay for the mortgage per year?  


a.  $10,000


b. $11,430


c. $14,500


d. $28,600

40.  In a recent election, the winner received 290,876 more votes than his opponent.  If the winner received 3,898,705 votes, how many votes did his opponent receive? 


a. 4,189,581


b. 3,607,829


c. 3,707,829


d. 4,089,581   

41.  Out of 250 products sampled, 2 products failed a quality control test. How many parts out of 190,000 products produced are likely to fail?


a. 760


b. 152


c.
 2,500


d. 1,520

42.  Ninety employees share a company’s profit of $325,350.  The share is to be paid in two equal payments.  What amount will each employee receive in the first payment?


a. $162,675.00


b. $1,807.50


c. $18,075.00


d. $3,615.00

43.  Steven received a 15% merit bonus and 10% attendance bonus on his annual income of $48,000.  What is his total bonus?  


a. $12,000


b. $12,500


c. $14,000


d. none of the above

44. At the end of an interview you are offered a job.  You would start at $8.00 and hour and work an average of 45 hours a week.  At the end of six months with a positive evaluation, your hourly pay would increase to $8.50.  The job pays overtime at a time-and-a-half rate, based on a 40-hour regular work week.  What would your total earnings be for a full year?



 a. $18,720.00



 b. $19,760.00



 c. $20,377.50


       d. $20,995.00

45. Eldon Plumbing Supply, Inc., had total sales of $981,000 last year and spent $73,000 on salaries and wages.  What percent, to the nearest percent, of total sales was the amount they spent on salaries and wages?


a.
5%


b.
7%


c.
10%


d.
12%

46. Shirley paid a social security tax rate of 6.2% and a Medicare tax rate of 1.45% on her gross pay of $1,280.  What total FICA tax did she pay?


a.
$18.56


b.
$79.36


c.
$97.29


d.
$97.92

47.  
A wholesaler wants to sell an electric mixer to retailers for $45 and earn a markup of 20% on the selling price.  What is the most the wholesaler can pay the manufacturer for each item and achieve the desired markup?



a.
$9.00



b.
$36.00



c.
$56.25



d.
$18.00

48.  
Olivia deposited these items in a bank:  (bills) 11 twenties, (coins) 22 quarters, 14 dimes; (checks) $124.27, $187.65.  She received 50 one-dollar bills in cash back.  What was the net amount of her deposit?



a.
$373.99



b.
$441.86



c.
$488.82



d.
$538.82

49. 

The regular price of a single jar of mayonnaise is $1.89.  A case of twelve jars is $19.49.  Approximately how much do you save per jar if you purchase a case?  



a. 10 cents



b. 25 cents



c. 40 cents



d. 55 cents

50.  
Luther is paid an annual salary of $28,680.  He is paid every other week.  What is his gross pay for each pay period?



a.
$1,103.07



b.
$1,103.08



c.
$1,195.00



d.
$2,390.00













